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001 | T &H H H# 505 549 652 1,201
002 | & X i) 668 756 801 1,557
03| F &F M fr 355 330 311 641
004 | & 5 i3] 964 1,144 1,052 2,196
005 | X i3 i) 717 826 858 1,684
006 | £ & F M 1,364 1,637 1,530 3,167
007 | #& e i3] 168 245 193 438
008 | 5 it i3] 803 915 935 1,850
009 | K & i) 552 712 694 1,406
010 | & H i3] 1,117 1,413 1,494 2,907
ol | £ B F A 680 822 848 1,670
012 | o # i)} 886 1,089 1,279 2,368
013 | 38hA H i3] 559 723 817 1,540
014 | & & i)} 863 1,038 1,070 2,108
015 | Bx AT 114 137 158 295
061 XRHE —TH 31 30 21 51
062 | X RE_-TH 220 206 201 407
063 | X ZET=TH 3 31 53 84
064 | X ZET MW TH 98 108 116 224
071 | £HAH—TH 37 28 44 72
072 | £BHAEB-TH 253 251 220 471
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a-F| #h X £ A B = L
081 m e — T H 0 0 0 0
082 | ® BT — T B 32 677 70 747
083 | M BT = T B 162 163 182 345
091 fili 5 B — T B 74 78 93 171
092 | s BT = T B 66 234 378 612
101 HAE—TH 104 104 102 206
111 +tEHEBI—TH 121 140 123 263
112 LTEHE_TH 82 69 61 130
113 | FEHAE=TH 108 100 121 221
114 | FEHEEAEMTH 158 145 165 310
115 | FEHAEATH 139 105 152 257
116 | FEHEHAEATH 144 121 129 250
117 | FEHAEETH 130 147 160 307
118 | FEMHEE/NTH 139 154 141 295
121 EEFH—TH 75 62 77 139
122 | EBFH_TH 51 65 62 127
123 | EBFH=TH 78 71 89 160
124 | EBFHOTH 73 68 51 119
1256 | EBFHATH 92 100 99 199
126 | EEFHEATH 143 124 121 245
127 | EZ@EFHETH 143 94 156 250

& 5t 13,071 15,811 15,879 31,690




